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Integral obtained from Eq.(A4), Equation 6 of ref. [ 1]
2

2. 2 2 o\ € 1
7p27p37m S12, $23; 0, m*, m* m ) = ( 2) 5
m?/ (s12 — m?)s230s,,

I{D 4— 26}(

X [ In(xs,,) Z Lis( 517323,55 2,1: 2) L12( ) — 21In(zs,,) In(1 — :Uid)
p,o0==x1
P

— 21In(z,,,) In (1 — —) — lnz(xpg) — lnz(xpg) + %

m2

+ O(e).

See the file on notation. We make use of the quantities

4Am? —1
T L
r B+ 1

where r represents a generic invariant. The following specific combinations of logarithms and dilogarithms

were used, Analytic continuation by the replacements s;; — s;; + ¢, p? — p? + €.
Lis(z,y, z) = Lig(1 — zyz) + In(1 — zyz2) [ln(azyz) —In(z) — In(y) — ln(z)}.

Return to general page on boxes
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